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S in a list of n numbers . n in a given integer .
Your task : determine if F i,j ( itj ) s - t
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s[ i ] + S[j] = n . If they exist , determine them .

i. Sort S → ① (n login ).
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The entire algorithm takes -0 In login) .



function find- pain - sum ( S , n) :

S = sort ( s)

n = lengths)
l = 1

, r=n , flag
--0

while ( e < r) :

if ( set Sr = a) :

flag = I

break

else if (set Sr > x) :

n =p -1

else :

l = l -11

if ( flag -0 ) :

return C- 1)
else :

return ( e , r)



Hotels
, penalty , Goo

- n)? . .

• • • 0 - - - o•
•

ao=O at Az Az Un

S4, 1,2 . . .
.

,
n] &y✓k•+1

Sfo] = 0

If you have 511]
,
. . .

,
51k] then

s[k+☐= min §[j]+(am ,

-

aj
-200))0±j±k



⇒⇒ F- - - a1¥
⇒

a- in{H⇒=É⇒%,
""

P#
Tcmk) =2T(n , E) + ocnk)

'⇒¥
,

= 4 -11m¥ ) + 0( nk) + ocnk)
:

= 2Mt ( n , }-m) + ocnk) ✗ m

k=2m

= OCK) + 0 ( nkm) =0(nklogk )


